01-09JAN12 - Law Enforcement Equipment Term & Supply BID TABULATION

	BID TABULATION								
4.7.									
	LEATHER ACCESSORIES	GT E	Distributo		Alamar Uniforms				
Item #	Product Description	Qty	Unit Price	Extended Price	Qty	Unit Price	Extende Price		
исш п	Duty Belt Safariland #94			TIRC			Tite		
	-Clarino finish								
	-Double lined full length hook lining Velcro.								
	Model # 94-XX-9 (XX =								
4.7.1.	SIZE)	12	N/B	N/B	12	\$59.25	\$711.00		
	Underbelt Safariland #99 -Velcro underbelt with full length soft pile to								
	mate with the outer belt lining.								
	- Clarino finish on reverse side								
	Model # 99-XX-9 (XX =								
4.7.2.	SIZE) Safariland Model 6360 Holster w/ALS	12	N/B	N/B	12	\$29.46	\$353.52		
	level III								
	-Clarino Finish								
	-Models that MUST be available: Glock								
	Models 22, or 23 for right or left handed duty								
	Model # 6360-X-XX (Depending On								
4.7.3	Weapon Make, Model)	5	N/B	N/B	5	\$135.06	\$675.30		
	Security Holster Safariland SS3 -Clarino Finish								
	-Clarino Finish -Models that MUST be available: Glock								
	Models 22, or 23 – for right or left handed								
	duty								
	Model # SS3 070-X-XX (Depending on	_	N//D	3.7 m	_	0150.00	0751 (0		
4.7.4.	Weapon Make, Model) Double Magazine Holders Safariland #77-	5	N/B	N/B	5	\$150.32	\$751.60		
	83-9HS								
	-Clarino or Hi-Gloss Finish								
	-Side by side with hidden snap closureGould &Gouldrich								
	-Models that MUST be available: Glock								
4.7.5.	Models 22, or 23.	10	N/B	N/B	10	\$31.00	\$310.00		
	Taser Cartridge "Dump Pouch"								
	- Clarino or high gloss finish -Double Over/Under Black Hardware								
	-Stallion DTC3								
4.7.6.	Model # DTC3	5	\$25.19	\$125.95	5	\$28.06	\$140.30		
	Taser X-26 Holster -With Tek-lok adapter, Right and Left Hand								
	- With Tex-lox adapter, Right and Left Hand								
	-Blade Tech X26								
4.7.7.	Model # 44952 OR 44953	5	N/B	N/B	5	N/B	N/B		
	Single Hand Cuff Case -Clarino or Hi-Gloss Finish								
	-Hidden snap closure								
	-Gould &Gouldrich								
4.7.8.	Model # H583CL	15	\$23.21	\$348.15	15	\$27.88	\$418.20		
4.7.9.	Glove Pouches Safariland 33 -Velcro closure								
	-Clarino Finish								
	Model # 33-9V	10	N/B	N/B	10	\$14.91	\$149.10		
	Belt Keepers-Safariland 62-9HS								
	-Packs of 4 -Clarino or hi-gloss finish								
4.7.10	-Hidden snap enclosures	10	N/B	N/B	10	\$17.13	\$171.30		
	Mace Holder Gould & Goodrich Open								
	top Carrier #H549 -Clarino Finish								
	-Sizes IV								
4.7.11.	Model # H549 CL	10	\$17.58	\$175.80	10	\$21.13	\$211.30		
	ASP Collapsible Baton Holder/ Stinger								
	Holder - for 21" baton								
	-open top carrier								
	-Clarino Finish								
	-Gould & Gouldrich			0.70 :-	, -	004.50			
4.7.12.	Model # H550-21 CL Sidebreak Asp Baton Scabbard	10	\$17.94	\$179.40	10	\$21.58	\$215.80		
	-For 21" baton								
	-Clarino finish								

-open top						1
4.7.13 Model # BA 164 BLK CL	10	N/B	N/B	10	\$34.28	\$342.80

	21" ASP Expandable Batons F21B						
4.7.14.	Model # ASP F21B	10	\$64.84	\$648.40	10	\$71.24	\$712.40
	Poly Stinger Holder Safariland #306-11-9						
4.7.15.	-Works for the 5.11 Light for Life 300	10	N/B	N/B	10	\$20.39	\$203.90
47.10	Flashlight Ring Safariland #730-9 - Works for the 5.11 Light for Life 400	10	NI/D	N/D	10	67.70	677.00
4.7.16	- Works for the 3.11 Eight for Elle 400	10	N/B	N/B	10	\$7.72	\$77.20
	TOTAL FOR SECTION 4.7.			_			_
4.7.17.				\$			\$
	T						
4.8	MISCELLANEOUS EQUIPMENT	Qty	Unit Price	Extended Price	Qty	Unit Price	Extended Price
1.0.	Radio Holders: Porta Clips			11100			Titte
	-Models that MUST be available include:						
	Porta Clip model #MXATT for Motorola						
	Portable Radio models XTS2500, PR1500;						
4.8.1.	n c c nyn sacryydd	10	\$25.83	\$258.30	10	\$24.46	\$244.60
	Pepper Spray – Saber RED 52CFT10 10% Oleoresin Capsicum series						
4.8.2.	-Saber MK-3	25	N/B	N/B	25	\$9.54	\$238.50
	Pepper Spray – Saber RED 52CFT30 10% Oleoresin Capsicum series						
	10 % Oleoresiii Capsicuiii series						
4.8.3.	-Saber MK-4	5	N/B	N/B	5	\$11.18	\$55.90
	Pepper Spray – Saber RED 92H2060						
	10% Oleoresin Capsicum series						
404	C-l MIZ O	4	NI/D	N/D		\$21.90	\$127.56
4.8.4.	-Saber MK-9 Handcuffs Smith and Wesson Model	4	N/B	N/B	4	\$31.89	\$127.56
	#100						
	-Double locking mechanism.						
	-All Steel						
	-2 Keys per set MUST be provided						
4.8.5.	Model #SW350103	15	N/B	N/B	15	\$23.98	\$359.70
	Leg Irons Smith and Wesson Model #1900						
	- Double locking mechanism						
	- Oversized cuff to fit ankles						
	- 14" chain						
	- Heavy steel with nickel finish						
	- 2 Keys per set MUST be provided						
100	Model# KR-S&W-350121		3.7.00				
4.8.6.		15	N/B	N/B	15	\$38.57	\$578.55
4.8.6.	Belly Chain Smith and Wesson Model	15	N/B	N/B	15	\$38.57	\$578.55
4.8.6.	Belly Chain Smith and Wesson Model #1800	15	N/B	N/B	15	\$38.57	\$578.55
4.8.6.	Belly Chain Smith and Wesson Model #1800 - Nickel	15	N/B	N/B	15	\$38.57	\$578.55
4.8.6.	Belly Chain Smith and Wesson Model #1800	15	N/B	N/B	15	\$38.57	\$578.55
4.8.6.	Belly Chain Smith and Wesson Model #1800 - Nickel - Double Lock Capability - 27 oz. 10,9 " circumference - Comes with hand cuff	15	N/B	N/B	15	\$38.57	\$578.55
	Belly Chain Smith and Wesson Model #1800 - Nickel - Double Lock Capability - 27 oz. 10.9 " circumference - Comes with hand cuff - 2 Keys per set MUST be provided	15		N/B	15	\$38.57	\$578.55
4.8.7.	Belly Chain Smith and Wesson Model #1800 - Nickel - Double Lock Capability - 27 oz. 10,9 " circumference - Comes with hand cuff	15	N/B	N/B	15	\$38.57 \$77.40	\$578.55 \$1,161.00
4.8.7. N/B	Belly Chain Smith and Wesson Model #1800 - Nickel - Double Lock Capability - 27 oz. 10.9 " circumference - Comes with hand cuff - 2 Keys per set MUST be provided Model # 350109	15	N/B	N/B	15	\$77.40	\$1,161.00
4.8.7.	Belly Chain Smith and Wesson Model #1800 - Nickel - Double Lock Capability - 27 oz. 10.9 " circumference - Comes with hand cuff - 2 Keys per set MUST be provided Model # 350109						
4.8.7. N/B	Belly Chain Smith and Wesson Model #1800 - Nickel - Double Lock Capability - 27 oz. 10.9 " circumference - Comes with hand cuff - 2 Keys per set MUST be provided Model # 350109 Product Description 5.11 "Light for Life" UC3.400 Flashlight	15	N/B	N/B Extended	15	\$77.40	\$1,161.00 Extended
4.8.7. N/B	Belly Chain Smith and Wesson Model #1800 - Nickel - Double Lock Capability - 27 oz. 10.9 " circumference - Comes with hand cuff - 2 Keys per set MUST be provided Model # 350109 Product Description 5.11 "Light for Life" UC3.400 Flashlight w/ charger	15	N/B	N/B Extended	15	\$77.40	\$1,161.00 Extended
4.8.7. N/B	Belly Chain Smith and Wesson Model #1800 - Nickel - Double Lock Capability - 27 oz. 10.9 " circumference - Comes with hand cuff - 2 Keys per set MUST be provided Model # 350109 Product Description 5.11 "Light for Life" UC3.400 Flashlight wf charger - LED light source	15	N/B	N/B Extended	15	\$77.40	\$1,161.00 Extended
4.8.7. N/B	Belly Chain Smith and Wesson Model #1800 - Nickel - Double Lock Capability - 27 oz. 10.9 " circumference - Comes with hand cuff - 2 Keys per set MUST be provided Model # 350109 Product Description 5.11 "Light for Life" UC3.400 Flashlight w/ charger - LED light source - 270 Peak lumens w/ dual stream and strobe	15	N/B	N/B Extended	15	\$77.40	\$1,161.00 Extended
4.8.7. N/B	Belly Chain Smith and Wesson Model #1800 Nickel Double Lock Capability 27 oz. 10.9 " circumference Comes with hand cuff 2 Keys per set MUST be provided Model # 350109 Product Description 5.11 "Light for Life" UC3.400 Flashlight w/ charger LED light source -270 Peak lumens w/ dual stream and strobe modes	15	N/B	N/B Extended	15	\$77.40	\$1,161.00 Extended
4.8.7. N/B	Belly Chain Smith and Wesson Model #1800 - Nickel - Double Lock Capability - 27 oz. 10.9 " circumference - Comes with hand cuff - 2 Keys per set MUST be provided Model # 350109 Product Description 5.11 "Light for Life" UC3.400 Flashlight w/ charger - LED light source - 270 Peak lumens w/ dual stream and strobe	15	N/B	N/B Extended	15	\$77.40	\$1,161.00 Extended
4.8.7. N/B	Belly Chain Smith and Wesson Model #1800 - Nickel - Double Lock Capability - 27 oz. 10.9 " circumference - Comes with hand cuff - 2 Keys per set MUST be provided Model # 350109 Product Description 5.11 "Light for Life" UC3.400 Flashlight w/ charger -ED light source -270 Peak lumens w/ dual stream and strobe modes -90 second charging -Default programming mode	15	N/B	N/B Extended	15	\$77.40	\$1,161.00 Extended
4.8.7. N/B Item #	Belly Chain Smith and Wesson Model #1800 Nickel Double Lock Capability 27 oz. 10.9 " circumference Comes with hand cuff 2 Keys per set MUST be provided Model # 350109 Product Description 5.11 "Light for Life" UC3.400 Flashlight w/ charger LED light source -270 Peak lumens w/ dual stream and strobe modes -90 second charging Default programming mode 5.11 "Light for Life" PC3.300 Flashlight	15 Qty	N/B Unit Price	N/B Extended Price	15 Qty	\$77.40 Unit Price	\$1,161.00 Extended Price
4.8.7. N/B Item #	Belly Chain Smith and Wesson Model #1800 - Nickel - Double Lock Capability - 27 oz. 10.9 " circumference - Comes with hand cuff - 2 Keys per set MUST be provided Model # 350109 Product Description 5.11 "Light for Life" UC3.400 Flashlight w/ charger - LED light source - 270 Peak lumens w/ dual stream and strobe modes - 90 second charging - Default programming mode 5.11 "Light for Life" PC3.300 Flashlight w/ charger	15 Qty	N/B Unit Price	N/B Extended Price	15 Qty	\$77.40 Unit Price	\$1,161.00 Extended Price
4.8.7. N/B Item #	Belly Chain Smith and Wesson Model #1800 - Nickel - Double Lock Capability - 27 oz. 10.9 " circumference - Comes with hand cuff - 2 Keys per set MUST be provided Model # 350109 Product Description 5.11 "Light for Life" UC3.400 Flashlight w/ charger - LED light source - 270 Peak lumens w/ dual stream and strobe modes - 90 second charging - Default programming mode 5.11 "Light for Life" PC3.300 Flashlight w/ charger - LED light source	15 Qty	N/B Unit Price	N/B Extended Price	15 Qty	\$77.40 Unit Price	\$1,161.00 Extended Price
4.8.7. N/B Item #	Belly Chain Smith and Wesson Model #1800 - Nickel - Double Lock Capability - 27 oz. 10.9 " circumference - Comes with hand cuff - 2 Keys per set MUST be provided Model # 350109 Product Description 5.11 "Light for Life" UC3.400 Flashlight w/ charger - LED light source - 270 Peak lumens w/ dual stream and strobe modes - 90 second charging - Default programming mode 5.11 "Light for Life" PC3.300 Flashlight w/ charger	15 Qty	N/B Unit Price	N/B Extended Price	15 Qty	\$77.40 Unit Price	\$1,161.00 Extended Price
4.8.7. N/B Item #	Belly Chain Smith and Wesson Model #1800 - Nickel - Double Lock Capability - 27 oz. 10.9 " circumference - Comes with hand cuff - 2 Keys per set MUST be provided Model # 350109 Product Description 5.11 "Light for Life" UC3.400 Flashlight w/ charger - LED light source - 270 Peak lumens w/ dual stream and strobe modes - 90 second charging - Default programming mode 5.11 "Light for Life" PC3.300 Flashlight w/ charger - LED light source - 201 Peak lumens w/ dual stream and strobe modes	15 Qty	N/B Unit Price	N/B Extended Price	15 Qty	\$77.40 Unit Price	\$1,161.00 Extended Price
4.8.7. N/B Item # 4.8.9.	Belly Chain Smith and Wesson Model #1800 Nickel Double Lock Capability 27 oz. 10.9 " circumference Comes with hand cuff 2 Keys per set MUST be provided Model # 350109 Product Description 5.11 "Light for Life" UC3.400 Flashlight w/ charger LED light source -270 Peak lumens w/ dual stream and strobe modes -90 second charging Default programming mode 5.11 "Light for Life" PC3.300 Flashlight w/ charger LED light source -200 Peak lumens w/ dual stream and strobe	15 Qty	N/B Unit Price	N/B Extended Price	15 Qty	\$77.40 Unit Price	\$1,161.00 Extended Price
4.8.7. N/B Item # 4.8.9.	Belly Chain Smith and Wesson Model #1800 Nickel Double Lock Capability 27 oz. 10.9 " circumference Comes with hand cuff 2 Keys per set MUST be provided Model # 350109 Product Description 5.11 "Light for Life" UC3.400 Flashlight w/ charger LED light source -270 Peak lumens w/ dual stream and strobe modes -00 second charging Default programming mode 5.11 "Light for Life" PC3.300 Flashlight w/ charger LED light source -200 Peak lumens w/ dual stream and strobe modes -90 second charging Default programming mode -200 Peak lumens w/ dual stream and strobe modes -90 second charging Default programming mode Rechargeable Magcharger Flashlight:	Qty 5	N/B Unit Price	N/B Extended Price	Qty 5	\$77.40 Unit Price	\$1,161.00 Extended Price N/B
4.8.7. N/B Item # 4.8.9.	Belly Chain Smith and Wesson Model #1800 - Nickel - Double Lock Capability - 27 oz. 10.9 " circumference - Comes with hand cuff - 2 Keys per set MUST be provided Model # 350109 Product Description 5.11 "Light for Life" UC3.400 Flashlight w/ charger - LED light source - 270 Peak lumens w/ dual stream and strobe modes - 90 second charging - Default programming mode 5.11 "Light for Life" PC3.300 Flashlight w/ charger - LED light source - 200 Peak lumens w/ dual stream and strobe modes - 90 second charging - UED light source - 200 Peak lumens w/ dual stream and strobe modes - 90 second charging - Default programming mode - Pefault programming mode - Rechargeable Magcharger Flashlight: - Mag-Lite Magcharger Flashlight: - Mag-Lite Magcharger	Qty 5	N/B Unit Price	N/B Extended Price	Qty 5	\$77.40 Unit Price	\$1,161.00 Extended Price N/B
4.8.7. N/B Item # 4.8.9.	Belly Chain Smith and Wesson Model #1800 Nickel Double Lock Capability 27 oz. 10.9 " circumference Comes with hand cuff 2 Keys per set MUST be provided Model # 350109 Product Description 5.11 "Light for Life" UC3.400 Flashlight w/ charger -LED light source 270 Peak lumens w/ dual stream and strobe modes 90 second charging -befault programming mode 5.11 "Light for Life" PC3.300 Flashlight w/ charger -LED light source -200 Peak lumens w/ dual stream and strobe modes 90 second charging -befault programming mode Rechargeable Magcharger Flashlight: Mag-Lite Magcharger -30,000 candle power adjustable beam.	Qty 5	N/B Unit Price	N/B Extended Price	Qty 5	\$77.40 Unit Price	\$1,161.00 Extended Price N/B
4.8.7. N/B Item # 4.8.9.	Belly Chain Smith and Wesson Model #1800 Nickel Double Lock Capability 27 oz. 10.9 " circumference Comes with hand cuff 2 Keys per set MUST be provided Model # 350109 Product Description 5.11 "Light for Life" UC3.400 Flashlight w/ charger LED light source -270 Peak lumens w/ dual stream and strobe modes 90 second charging Default programming mode 5.11 "Light for Life" PC3.300 Flashlight w/ charger -LED light source -200 Peak lumens w/ dual stream and strobe modes -90 second charging -Default programming mode Recharger -LED light source -200 Peak lumens w/ dual stream and strobe modes -90 second charging -Default programming mode Rechargeable Magcharger Flashlight: Mag-Lite Magcharger -30,000 candle power adjustable beam. -Constructed of aircraft aluminum.	Qty 5	N/B Unit Price	N/B Extended Price	Qty 5	\$77.40 Unit Price	\$1,161.00 Extended Price N/B
4.8.7. N/B Item # 4.8.9.	Belly Chain Smith and Wesson Model #1800 Nickel Double Lock Capability 27 oz. 10.9 " circumference Comes with hand cuff 2 Keys per set MUST be provided Model # 350109 Product Description 5.11 "Light for Life" UC3.400 Flashlight w/ charger -LED light source 270 Peak lumens w/ dual stream and strobe modes 90 second charging -befault programming mode 5.11 "Light for Life" PC3.300 Flashlight w/ charger -LED light source -200 Peak lumens w/ dual stream and strobe modes 90 second charging -befault programming mode Rechargeable Magcharger Flashlight: Mag-Lite Magcharger -30,000 candle power adjustable beam.	Qty 5	N/B Unit Price	N/B Extended Price	Qty 5	\$77.40 Unit Price	\$1,161.00 Extended Price N/B
4.8.7. N/B Item # 4.8.9.	Belly Chain Smith and Wesson Model #1800 Nickel Double Lock Capability 27 oz. 10.9 " circumference Comes with hand cuff 2 Keys per set MUST be provided Model # 350109 Product Description 5.11 "Light for Life" UC3.400 Flashlight w/ charger LED light source -270 Peak lumens w/ dual stream and strobe modes 90 second charging Default programming mode 5.11 "Light for Life" PC3.300 Flashlight w/ charger -LED light source -200 Peak lumens w/ dual stream and strobe modes -90 second charging -Default programming mode Recharger -LED light source -200 Peak lumens w/ dual stream and strobe modes -90 second charging -Default programming mode Rechargeable Magcharger Flashlight: Mag-Lite Magcharger -30,000 candle power adjustable beam. -Constructed of aircraft aluminum.	Qty 5	N/B Unit Price	N/B Extended Price	Qty 5	\$77.40 Unit Price	\$1,161.00 Extended Price N/B
4.8.7. N/B Item # 4.8.9.	Belly Chain Smith and Wesson Model #1800 - Nickel - Double Lock Capability - 27 oz. 10.9 "circumference - Comes with hand cuff - 2 Keys per set MUST be provided Model # 350109 Product Description 5.11 "Light for Life" UC3.400 Flashlight w/ charger -LED light source -270 Peak lumens w/ dual stream and strobe modes - Default programming mode 5.11 "Light for Life" PC3.300 Flashlight w/ charger - LED light source - 200 Peak lumens w/ dual stream and strobe modes - Use of the programming mode 5.11 "Light for Life" PC3.300 Flashlight w/ charger - LED light source - 200 Peak lumens w/ dual stream and strobe modes - 90 second charging - Default programming mode Rechargeable Magcharger Flashlight: Mag-Lite Magcharger - 30.000 candle power adjustable beam. - Constructed of aircraft aluminum. - AC/DC	Qty 5	N/B Unit Price	N/B Extended Price	Qty 5	\$77.40 Unit Price	\$1,161.00 Extended Price N/B
4.8.7. N/B Item # 4.8.9.	Belly Chain Smith and Wesson Model #1800 - Nickel - Double Lock Capability - 27 oz. 10.9 "circumference - Comes with hand cuff - 2 Keys per set MUST be provided Model # 350109 Product Description 5.11 "Light for Life" UC3.400 Flashlight w/ charger -LED light source -270 Peak lumens w/ dual stream and strobe modes - Default programming mode 5.11 "Light for Life" PC3.300 Flashlight w/ charger - LED light source - 200 Peak lumens w/ dual stream and strobe modes - Use of the programming mode 5.11 "Light for Life" PC3.300 Flashlight w/ charger - LED light source - 200 Peak lumens w/ dual stream and strobe modes - 90 second charging - Default programming mode Rechargeable Magcharger Flashlight: Mag-Lite Magcharger - 30.000 candle power adjustable beam. - Constructed of aircraft aluminum. - AC/DC	15 Qty 5	N/B Unit Price N/B	N/B Extended Price N/B	15 Qty 5	\$77.40 Unit Price N/B	\$1,161.00 Extended Price N/B \$693.60
4.8.7. N/B Item # 4.8.9.	Belly Chain Smith and Wesson Model #1800 - Nickel - Double Lock Capability - 27 oz. 10.9 " circumference - Comes with hand cuff - 2 Keys per set MUST be provided Model # 350109 Product Description 5.11 "Light for Life" UC3.400 Flashlight w/ charger -LED light source -270 Peak lumens w/ dual stream and strobe modes -909 second charging -Default programming mode 5.11 "Light for Life" PC3.300 Flashlight w/ charger -LED light source -200 Peak lumens w/ dual stream and strobe modes -90 second charging -Default programming mode Rechargeable Magcharger -30.000 candle power adjustable beam. -Constructed of aircraft aluminum. -AC/DC Product Number RX1019 Magcharger Replacement Battery Stick	15 Qty 5 5	N/B Unit Price N/B N/B	N/B Extended Price N/B N/B	15 Qty 5 5	\$77.40 Unit Price N/B \$138.72	\$1,161.00 Extended Price N/B \$693.60
4.8.7. N/B Item # 4.8.9.	Belly Chain Smith and Wesson Model #1800 Nickel Double Lock Capability 27 oz. 10.9 " circumference Comes with hand cuff 2 Keys per set MUST be provided Model # 350109 Product Description 5.11 "Light for Life" UC3.400 Flashlight w/ charger -1ED light source -270 Peak lumens w/ dual stream and strobe modes 90 second charging -Default programming mode 5.11 "Light for Life" PC3.300 Flashlight w/ charger -LED light source -200 Peak lumens w/ dual stream and strobe modes -1ED light source -200 Peak lumens w/ dual stream and strobe modes -00 second charging -Default programming mode Rechargeable Magcharger Flashlight: Mag-Lite Magcharger -30,000 candle power adjustable beam. -Constructed of aircraft aluminum. -AC/DC Product Number RX1019 Magcharger Replacement Battery Stick	15 Qty 5	N/B Unit Price N/B	N/B Extended Price N/B	15 Qty 5	\$77.40 Unit Price N/B	\$1,161.00 Extended Price N/B \$693.60
4.8.7. N/B Item # 4.8.9.	Belly Chain Smith and Wesson Model #1800 - Nickel - Double Lock Capability - 27 oz. 10.9 " circumference - Comes with hand cuff - 2 Keys per set MUST be provided Model # 350109 Product Description 5.11 "Light for Life" UC3.400 Flashlight w/ charger -LED light source -270 Peak lumens w/ dual stream and strobe modes -909 second charging -Default programming mode 5.11 "Light for Life" PC3.300 Flashlight w/ charger -LED light source -200 Peak lumens w/ dual stream and strobe modes -90 second charging -Default programming mode Rechargeable Magcharger -30.000 candle power adjustable beam. -Constructed of aircraft aluminum. -AC/DC Product Number RX1019 Magcharger Replacement Battery Stick	15 Qty 5 5	N/B Unit Price N/B N/B	N/B Extended Price N/B N/B	15 Qty 5 5	\$77.40 Unit Price N/B \$138.72	\$1,161.00 Extended Price N/B \$693.60
4.8.7. N/B Item # 4.8.9. 4.8.10	Belly Chain Smith and Wesson Model #1800 Nickel Double Lock Capability 27 oz. 10.9 " circumference Comes with hand cuff 2 Keys per set MUST be provided Model # 350109 Product Description 5.11 "Light for Life" UC3.400 Flashlight w/ charger -1ED light source -270 Peak lumens w/ dual stream and strobe modes 90 second charging -Default programming mode 5.11 "Light for Life" PC3.300 Flashlight w/ charger -LED light source -200 Peak lumens w/ dual stream and strobe modes -1ED light source -200 Peak lumens w/ dual stream and strobe modes -00 second charging -Default programming mode Rechargeable Magcharger Flashlight: Mag-Lite Magcharger -30,000 candle power adjustable beam. -Constructed of aircraft aluminum. -AC/DC Product Number RX1019 Magcharger Replacement Battery Stick	Qty 5 5 Each	N/B N/B N/B \$82.05	N/B Extended Price N/B N/B \$410.25	Qty 5 5 Each	\$77.40 Unit Price N/B \$138.72	\$1,161.00 Extended Price N/B \$693.60
4.8.7. N/B Item # 4.8.9. 4.8.10	Belly Chain Smith and Wesson Model #1800 - Nickel - Double Lock Capability - 27 oz. 10.9 "circumference - Comes with hand cuff - 2 Keys per set MUST be provided Model # 350109 Product Description 5.11 "Light for Life" UC3.400 Flashlight w/ charger -LED light source - 270 Peak lumens w/ dual stream and strobe modes - Default programming mode 5.11 "Light for Life" PC3.300 Flashlight w/ charger - LED light source - 200 Peak lumens w/ dual stream and strobe modes - Default programming mode 5.11 "Light for Life" PC3.300 Flashlight w/ charger - LED light source - 200 Peak lumens w/ dual stream and strobe modes - 90 second charging - Default programming mode Rechargeable Magcharger Flashlight: Mag-Life Magcharger - 30.000 candle power adjustable beam. - Constructed of aircraft aluminum. - AC/DC Product Number RX1019 Magcharger Replacement Battery Stick Product Number ARXX075 Magcharger Replacement Halogen Lamp	15 Qty 5 5	N/B Unit Price N/B N/B	N/B Extended Price N/B N/B	15 Qty 5 5	\$77.40 Unit Price N/B \$138.72	\$1,161.00 Extended Price N/B \$693.60
4.8.7. N/B Item # 4.8.9. 4.8.11. 4.8.12. 4.8.13.	Belly Chain Smith and Wesson Model #1800 Nickel Double Lock Capability 27 oz. 10.9 " circumference Comes with hand cuff 2 Keys per set MUST be provided Model # 350109 Product Description 5.11 "Light for Life" UC3.400 Flashlight w/ charger -LED light source -270 Peak lumens w/ dual stream and strobe modes 90 second charging -befault programming mode 5.11 "Light for Life" PC3.300 Flashlight w/ charger -LED light source -200 Peak lumens w/ dual stream and strobe modes 90 second charging -befault programming mode 8.11 "Light for Life" PC3.300 Flashlight w/ charger -LED light source -200 Peak lumens w/ dual stream and strobe modes 90 second charging -befault programming mode Rechargeable Magcharger Flashlight: Mag-Lite Magcharger -30,000 candle power adjustable beam. -Constructed of aircraft aluminum. -AC/DC Product Number ARXX075 Magcharger Replacement Battery Stick Product Number LR00001	Qty 5 5 Each	N/B N/B N/B \$82.05	N/B Extended Price N/B N/B \$410.25	Qty 5 5 Each	\$77.40 Unit Price N/B \$138.72	\$1,161.00 Extended Price N/B \$693.60

	Magcharger Replacement Lamp						
	Reflector						
4.8.15	Product Number 108-104	Each	\$20.79	\$20.79	Each	\$17.19	\$17.19
	Magcharger Replacement Charging Cradle						
4.8.16	Product Number ARXX025	Each	\$19.06	\$19.06	Each	\$25.00	\$25.00
	Cyalume Lightstick Flares						
	-Hi-intensity 30 minute flares.						
	-Identify Quantity per Case - 100 Product Number Red – 9-08089, yellow-9-						
4.8.17		Case	N/B	N/B	Case	N/B	N/B
Item #	Product Description	Qty	Unit Price	Extended	Qty	Unit Price	Extended
	Cyalume Lightstick Flares	4.5	Cint Trice	Price	4.0		Price
	-12 Hour flares.						
	-Identify Quantity per Case -100						
	Product Number Red-9-08012, yellow 9-						
4.8.18	08014, green 9-08011 Latent Finger Print Kit: Sirchie Search II	Case	N/B	N/B	Case	N/B	N/B
	Kit or Equivalent: #177L.						
4.8.19		6	\$82.08	\$492.48	6	N/B	N/B
	Riot Helmet by American Body Armor						
	-High impact resistant polycarbonate shell of						
	RT-1006 and have a reinforced neck						
	protector.						
	 Molded visor to allow maximum peripheral vision with added face and eye protection 						
	against flammable liquids and acids.						
	-Mask to accommodate a gas mask.						
	-Lower neck coverageThree helmet aerators for maximum						
	ventilation.						
	-Permanent molded face shield with positive						
	face lock up or down.						
4.8.20	-Helmet cannot weigh more than 2lb-10oz.	1	N/B	N/B	1	\$149.18	\$149.18
4.8.20	Streamlight Flashlight with Chargers:	1	IN/D	N/D	1	\$149.18	\$149.18
	Stinger						
40.21	-AC/DC Fast chargers Product Number 75024	10	611401	61 140 10	10	6111.20	61 112 00
4.8.21	Stinger Replacement Charger	10	\$114.91	\$1,149.10	10	\$111.28	\$1,112.80
4.8.22	Product Number 75103	Each	\$23.41	\$23.41	Each	\$30.59	\$30.59
	Stinger Replacement Battery Stick						
4.8.23	Product Number 75175 Stinger Replacement Bulb	Each	\$11.81	\$11.81	Each	\$15.43	\$15.43
4.8.24	Product Number 75914	Each	\$5.13	\$5.13	Each	\$6.72	\$6.72
	Stinger Fast Charger 120V Cord						
4.8.25	Product Number 22665 Stinger Replacement Lamp Assembly	Each	\$14.94	\$14.94	Each	\$19.52	\$19.52
	Stinger Replacement Lamp Assembly						
4.8.26	Product Number 75956	Each	\$7.69	\$7.69	Each	\$10.36	\$10.36
	Rolling Measuring Wheel Device						
4 8 27	Make: Rolatape Model: MM30 Product Number MM30	5	\$87.20	\$436.00	5	\$87.76	\$438.80
			ψ07.20	ψ150.00	ì	ψ07.70	\$150.00
	TOTAL FOR SECTION 4.8.						
4000	TOTAL FOR SECTION 4.0.						
4.8.28		0:	II-i4 P ·	\$	0,	II-it P	\$
	MISCELLANEOUS UNIFORM	Qty	Unit Price	Extended	Qty	Unit Price	Extended
		Qty	Unit Price		Qty	Unit Price	
	MISCELLANEOUS UNIFORM EQUIPMENT	Qty	Unit Price	Extended	Qty	Unit Price	Extended
	MISCELLANEOUS UNIFORM EQUIPMENT Collar Brass Blackington #7/HG or	Qty	Unit Price	Extended	Qty	Unit Price	Extended
	MISCELLANEOUS UNIFORM EQUIPMENT Collar Brass Blackington #7/HG or -State seal with clutch back fastener.	Qty	Unit Price	Extended	Qty	Unit Price	Extended
	MISCELLANEOUS UNIFORM EQUIPMENT Collar Brass Blackington #7/HG or -State seal with clutch back fastenerHi-glo finish.	Qty 20	Unit Price	Extended	Qty 20	Unit Price	Extended
4.9	MISCELLANEOUS UNIFORM EQUIPMENT Collar Brass Blackington #7/HG or -State seal with clutch back fastener.			Extended Price			Extended Price
4.9	MISCELLANEOUS UNIFORM EQUIPMENT Collar Brass Blackington #7/HG or -State seal with clutch back fastenerHi-glo finish. Badges Blackington #748 or Equal -Hard stoned enamel seal and hard flowed			Extended Price			Extended Price
4.9	MISCELLANEOUS UNIFORM EQUIPMENT Collar Brass Blackington #7/HG or -State seal with clutch back fastenerHi-glo finish. Badges Blackington #748 or Equal -Hard stoned enamel seal and hard flowed enamel lettering with safety catch.			Extended Price			Extended Price
4.9.1	MISCELLANEOUS UNIFORM EQUIPMENT Collar Brass Blackington #7/HG or -State seal with clutch back fastenerHi-glo finish. Badges Blackington #748 or Equal -Hard stoned enamel seal and hard flowed	20	N/B	Extended Price	20	\$28.16	Extended Price
4.9	MISCELLANEOUS UNIFORM EQUIPMENT Collar Brass Blackington #7/HG or -State seal with clutch back fastenerHi-glo finish. Badges Blackington #748 or Equal -Hard stoned enamel seal and hard flowed enamel lettering with safety catchHi-glo 7 point badge with full color.			Extended Price			Extended Price
4.9.1	MISCELLANEOUS UNIFORM EQUIPMENT Collar Brass Blackington #7/HG or -State seal with clutch back fastenerHi-glo finish. Badges Blackington #748 or Equal -Hard stoned enamel seal and hard flowed enamel lettering with safety catch.	20	N/B	Extended Price	20	\$28.16	Extended Price
4.9.1	MISCELLANEOUS UNIFORM EQUIPMENT Collar Brass Blackington #7/HG or -State seal with clutch back fastenerHi-glo finish. Badges Blackington #748 or Equal -Hard stoned enamel seal and hard flowed enamel lettering with safety catchHi-glo 7 point badge with full color.	20	N/B	Extended Price	20	\$28.16	Extended Price
4.9.1	MISCELLANEOUS UNIFORM EQUIPMENT Collar Brass Blackington #7/HG or -State seal with clutch back fastenerHi-glo finish. Badges Blackington #748 or Equal -Hard stoned enamel seal and hard flowed enamel lettering with safety catchHi-glo 7 point badge with full color. Wallet Badge Blackington #748 or Equal	20	N/B	Extended Price	20	\$28.16	Extended Price
4.9.1	MISCELLANEOUS UNIFORM EQUIPMENT Collar Brass Blackington #7/HG or -State seal with clutch back fastenerHi-glo finish. Badges Blackington #748 or Equal -Hard stoned enamel seal and hard flowed enamel lettering with safety catchHi-glo 7 point badge with full color. Wallet Badge Blackington #748 or Equal -Hard stoned enamel seal and hard flowed enamel lettering with safety catch.	20	N/B	N/B N/B	20	\$28.16 \$57.59	\$563.20 \$575.90
4.9.1	MISCELLANEOUS UNIFORM EQUIPMENT Collar Brass Blackington #7/HG or -State seal with clutch back fastenerHi-glo finish. Badges Blackington #748 or Equal -Hard stoned enamel seal and hard flowed enamel lettering with safety catchHi-glo 7 point badge with full color. Wallet Badge Blackington #748 or Equal -Hard stoned enamel seal and hard flowed enamel lettering with safety catchHi-glo 7 point badge with full color.	20	N/B	Extended Price	20	\$28.16	Extended Price
4.9.1	MISCELLANEOUS UNIFORM EQUIPMENT Collar Brass Blackington #7/HG or -State seal with clutch back fastenerHi-glo finish. Badges Blackington #748 or Equal -Hard stoned enamel seal and hard flowed enamel lettering with safety catchHi-glo 7 point badge with full color. Wallet Badge Blackington #748 or Equal -Hard stoned enamel seal and hard flowed enamel lettering with safety catch.	20	N/B	N/B N/B	20	\$28.16 \$57.59	\$563.20 \$575.90
4.9.1	MISCELLANEOUS UNIFORM EQUIPMENT Collar Brass Blackington #7/HG or -State seal with clutch back fastenerHi-glo finish. Badges Blackington #748 or Equal -Hard stoned enamel seal and hard flowed enamel lettering with safety catchHi-glo 7 point badge with full color. Wallet Badge Blackington #748 or Equal -Hard stoned enamel seal and hard flowed enamel lettering with safety catchHi-glo 7 point badge with full color. Hat Badge Blackington A2687W or Equal Engraved One Line Nameplate	20	N/B	N/B N/B	20	\$28.16 \$57.59	\$563.20 \$575.90
4.9.1	MISCELLANEOUS UNIFORM EQUIPMENT Collar Brass Blackington #7/HG or -State seal with clutch back fastener. Hi-glo finish. Badges Blackington #748 or Equal -Hard stoned enamel seal and hard flowed enamel lettering with safety catch. -Hi-glo 7 point badge with full color. Wallet Badge Blackington #748 or Equal -Hard stoned enamel seal and hard flowed enamel lettering with safety catch. -Hi-glo 7 point badge with full color. Hat Badge Blackington A2687W or Equal -I-1/2 Height	20	N/B	N/B N/B	20	\$28.16 \$57.59	\$563.20 \$575.90
4.9.1	MISCELLANEOUS UNIFORM EQUIPMENT Collar Brass Blackington #7/HG or -State seal with clutch back fastenerHi-glo finish. Badges Blackington #748 or Equal -Hard stoned enamel seal and hard flowed enamel lettering with safety catchHi-glo 7 point badge with full color. Wallet Badge Blackington #748 or Equal -Hard stoned enamel seal and hard flowed enamel lettering with safety catchHi-glo 7 point badge with full color. Hat Badge Blackington A2687W or Equal Engraved One Line Nameplate -1/2" Height -Polished Gold	20	N/B	N/B N/B	20	\$28.16 \$57.59	\$563.20 \$575.90
4.9.1	MISCELLANEOUS UNIFORM EQUIPMENT Collar Brass Blackington #7/HG or -State seal with clutch back fastener. Hi-glo finish. Badges Blackington #748 or Equal -Hard stoned enamel seal and hard flowed enamel lettering with safety catch. -Hi-glo 7 point badge with full color. Wallet Badge Blackington #748 or Equal -Hard stoned enamel seal and hard flowed enamel lettering with safety catch. -Hi-glo 7 point badge with full color. Hat Badge Blackington A2687W or Equal -I-1/2 Height	20	N/B	N/B N/B	20	\$28.16 \$57.59	\$563.20 \$575.90

i		Ī	i	i	Ī	i	i
	-Clutch Back						
405	Product name: Blackington Product Number: J1		37/10	37.00		AT 10	07.10
4.9.5.	Product Number: J1	Each	N/B	N/B	Each	\$7.10	\$7.10
	TOTAL FOR SECTION 4.9.		\$	\$		\$	\$
4.9.6			Φ	Φ		Φ	Φ
11,7.0							
4.10	NYLON DUTY GEAR						
	Nylon Duty Belt						
	Model #						
4.10.1		12	\$18.82	\$225.84	12	\$17.65	\$211.80
	Nylon or plain leather Underbelt						
	-Plain leather finish velcro underbelt with						
	full length soft pile to mate with the outer belt lining.						
	ber iming.						
	Model #						
4.10.2		12	\$13.75	\$165.00	12	\$13.02	\$156.24
	Nylon Double Magazine Holders						
	-Side by side with hidden snap closure.						
	-Models that MUST be available: Glock						
	Models 22, or 23.						
	Model #						
4.10.3		10	\$15.68	\$156.80	10	\$16.62	\$166.20
	Nylon Single Hand Cuff Case -Hidden snap closure						
1							
	Model #						
4.10.4		20	\$11.21	\$224.20	20	\$10.62	\$212.40
			411.21	4		4.010	4
	Safariland Nylon Glove Pouch 4600-4BL						
	-Nylon construction						
	-Black						
	-Velcro or snap closure						
4.10.5	Model #		# C 00	002 (0		40.01	0106.00
4.10.5	Nylon Belt Keepers	12	\$6.89	\$82.68	12	\$8.91	\$106.92
	-Packs of 4						
	-Hidden snap enclosures						
	Model #						
		10	\$8.08	\$80.80	10	\$6.85	\$68.50
	Nylon ASP Collapsible Baton Holder						
	- for 21" baton						
	-open top carrier -Clarino Finish						
	-Clarillo Fillisti						
	Model #						
4.10.7		12	\$10.67	\$128.04	12	\$29.11	\$349.32
	Sidebreak Asp Baton Scabbard		+-3.07	Ţ0.0 ·			72.7.22
	-For 21" baton						
1	-Plain or basketweave finish		1			1	
	-open top						
1							
	Model #		l			l	
4.10.8	Nation Double Hand C. M.C.	10	\$26.89	\$268.90	10	\$34.28	\$342.80
	Nylon Double Hand Cuff Case -Hidden snap closure						
1	- maden snap crosure						
	Model #						
4.11.9		10	\$13.74	\$137.40	10	\$12.17	\$121.70
	Nylon Holster for Stinger Flashlight			77-10			7
1							
	Model #						
4.10.10		10	\$9.97	\$99.70	10	\$10.62	\$106.20
	Replacement Buckle for Nylon Belt						
1			1			1	
4 10 11	Model #	10	NI/P	NI/D	10	¢4.50	¢45.00
4.10.11		10	N/B	N/B	10	\$4.50 \$	\$45.00
4.10.12	TOTAL FOR SECTION 4.10		پ	\$		پ	\$
4.10.12	Maximum % Increase 1st Renewal		5	L *		5	
	Maximum % Increase 2nd Renewal		5			5	
	Maximum % Increase 3rd Renewal		5			5	
4.13.a	COOP? (Yes or No)		YES			NO	
	% Discount for Catalog Items not in this						
4.13.b	contract	8 20					
14.44	Delivery ARO	30 DAYS				7 - 35 DA	YS
4.14.							